ERE 0105-2

1. woszemmLzs,

(1) m(4m + 3)

(3) 3c(3c+5)

(5) —4c(3c+2)

(7) 3b(b+1)

D WOREEM LA S0,

(1) —p(4p — 3q)

(3) b(b—c)

(5) 2y(—y — 32)

(7) 2a(4a + 5b)

3. ROXZE B L7 S0,

(1) =3m(2m +1)

(3) 3m(m — 2n)

(5) 2a(3a +5)

(7) 4m(—2m + 3)

(9) n(n+1)
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(2) z(5x + 3)

(4) —3a(a—1)

(6) —3y(3y —5)

(8) a(5a + 2)

(2) —2y(2y — 52)

(4) 3p(p —2q)

(6) x(—2z +vy)

(8) 2z(5x — 3y)

(2) 3y(3y — 52)

(4) —3n(n+2)

(6) —2x(4x + 5y)

(8) —3m(m — 5n)

— 13th-note —



. ROXZER LS,

(1) (y+1)?

(3) (a+5)?

(5) (z—4)?

. ROXZER LS,

(1) (z—=2)(x—4)

(3) (y=3)y—1)

(5) (x+3)(x+38)

(7) (z+3)(xz—1)

9) (=D +9)

. ROXZEB LS,

(1) (0+2)(b—2)

(3) (a+1)(a—1)

. ROXZER LS,

(1) (0-1)(b+1)

(3) b—1)(b+3)

(5) (z+3)(x —4)
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(2) (b+5)*

(4) (b+5)2

(6) (z—2)°

(2) (a+5)(a—4)

(4) (z = 3)(z =)

(6) (z+5)(x —4)

(8) (y+3)(y—38)

(2) (x+5)(x—5)

(4) (x —6)(x+6)

(2) (x+4)(x—4)

(4) (x —5)(x+2)

(6) (z+6)

— 13th-note —



10.

11.

. ROXZER LS,

(1) (5z —2)?

(3) (by —1)?

(5) (5y+1)?

. ROXZER LS,

(1) (5b+1)(5b+ 3)

(3) (22 +5)(2z — 7)

(5) (bz +2)(5z + 3)

(7) 3z + 1)(3z — 4)

(9) (2b+ 3)(2b— 1)

WO % BB L7 S0,

(1) (5y + 15y — 1)

(3) 3z —2)(3x+2)

KON Z B L7 S0,

(1) (2z+1)?

(3) (2y+5)°

(5) (52 + 3)(5z — 2)
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(2) (5x —3)?

(4) 3z —4)

(6) (5z —4)

(2) (2z+5)(2x — 3)

(4) (32 +5)(3z — 2)

(6) (bz+3)(bx +1)

(8) (2z —3)(2x —5)

(2) (3z — 4)(3z + 4)

(4) (bx —4)(bx +4)

(2) (22 -3)?

(4) (5b+2)2

(6) (5bx + 3)(bx — 3)

— 13th-note —



12.

13.

WO % B L7 S0,

(1) 2z(3z — 2y)

(3) a(5a — 3b)

(5) —4b(—2b — 3c)

WOXZE R L7230,

(1) (5b+3)(5b — 3)

(3) (bx —2)(5x + 2)

(5) (52 — 1)(5x — 4)

(7) (3z +2)(3z — 5)

(9) (3a+4)(3a+2)

(11) 2z +1)(2z +5)

(13) (3a+1)(3a +2)

(15) (3y +4)(3y —5)

(17) (3y +4)°

(19) (bx —3)(bx —4)
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(2) —2(4z +5)

(4) —3y(=5y —3)

2) (52 — 3)(52 +2)

(4) (3x —2)?

(6) (22 +5)(2z — 1)

(8) (5y —2)*

(10) (3a+1)(3a — 2)

(12) (5b+ 3)(5b — 4)

(14) (2x +5)?

(16) (3x +4)(3z + 5)

(18) (2b+7)(2b+5)

(20) (5 4 2)(5z — 3)

— 13th-note —



14, woszmmLrso,

6+ )61

(7) (b+3)(b—4)

(19) (5a +1) (5a — 1)
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(12) (42— %) (4 + %)

a0 (o+4) (2

(16) (4y +4)(4y —2)

(18) (20+2) (204 2)

(20) (52+2) (50— )

— 13th-note —
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ERE 0105-2

1. woszemmLzs,

(1) m@m+3) 4m? + 3m
(3) 3¢(3¢ +5) 9¢c® + 15¢

(5) —4c¢(3¢+2) —12c? — 8¢
(7) 366+ 1) 3b% + 3b

2. ROXZE P L72 S0y,

(1) —p(4p—3q) —4p* + 3pq
3) b(b—c) b® — be

(5) 2y(~y —32) —2yY? — 6yz
(7) 2a(4a +5b) 8a* + 10ab

3. RON % BB L7 S0,

(1) —3m@2m+1) —6m? — 3m
(3) 3m(m —2n) 3M? — 6mn

(5) 2a(3a +5) 6a® + 10a

(7) dm(—2m +3) —8m? + 12m

9 ntn+1) n? +n

2) z(5z +3) bx? + 3x
4) —3a(a—1) —3a? + 3a
(6) —3y(3y —5) —9Y? + 15y

(8) a(ba + 2) 5a? + 2a

(2) ~2y(2y - 52) —4y® + 10yz
(4) 3p(p —29) 3p* — 6pgq
6) 2(—2z+y) —2x2 + zY

(8) 2z(5z — 3y) 10x? — 6y

(2) 3y(3y —52) 9y? — 15yz
4) —3n(n+2) —3n? — 6N
(6) —22(4z +5y) —8x? — 10xy

8) —3m(m—51) —3m? + 15mn

— 13th-note —



4.

b.

6.

[

—~ B 0105-2 -

WO % B L7 S0,

M+ =y*+2y+1
3) (a+5? = a® 4+ 10a + 25
5) (x—4? = x* — 8¢ + 16

ROXZE P L72 S0y,

1) -2z —4) = x?> —6x + 8
() w-3w-1) =y* — 4y + 3
5) (x+3)(z+8) = x? 4+ 11z + 24
) @+3) -1 = x?+ 22 — 3
© G-1y+9 =y*+8y—9

ROXZ B L7 S0y,

1) b+2)b—2) = b* —4
3) (@+Da-1) =a?—1

KON Z B L7 S0,

1) G-+l =b* —1
3) b-1)0b+3) =b*+2b—3

5) t+3)z—4) =x? —x — 12

2) b+5?2 = b%+ 10b + 25
4) b+5?2 = b% 4+ 10b + 25

6) (1-2?2 =x? —4x + 4

2) (a+5)@a-4 = a*+a— 20
4) (z-3)z-5 = x* — 8x + 15
6) (z+5)(z—4) =x*+x — 20

8) W+3)(y—8) = y? — by — 24

(2) (z+5)(x—5b) = x? — 25

4) (z—6)(z+6) = % — 36

2) c+4) (-4 = x? — 16
4) -5r+2) = x? — 3 — 10

©6) (z+6? = x* + 12z + 36

— 13th-note —
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8. WOXZJEE LS,

(1) 5z -2 = 25x% — 20x + 4 2) 5z -3 = 25x% — 30 + 9
3) 5y —1)? = 2by? — 10y + 1 (4) (3z —4)? = 9x? — 24x + 16
(5) y+1)? = 25y%? + 10y + 1 6) (52 —4)? = 25x% — 40x + 16

0. woszmmLzrs,

(1) Gb+1)(50+3) = 25b% +20b + 3 (2) 2z +5)©2c—3) = 4x? + 4 — 15
3) Qe +5)22-7) = 4x? —4x — 35 (4) Br+5Bz-2) = 9x% + 9 — 10
5) Ge+2)(Gr+3) = 2522 + 252 + 6 (6) (5z+3)(5x+1) = 25bx? 4+ 20 + 3
(1) Br+1)(3z—4) =922 — 9 — 4  (8) 22-3)(22-5) = 4x? — 16 + 15
9) 2b+3)(2—1) = 4b®> 4+ 4b — 3

10, woszmmLzs,

(1) Gy+DGy—1) = 25y? — 1 (2) Bz —4)(3z+4) = 9x2 — 16
3) 3z —2)Bz+2) = 9x% — 4 (4) 5z — )5z +4) = 25x2 — 16

11, woszmmLzso,

1) Qz+1? = 4x? + 4+ 1 2) 2z -3 = 4x? — 122 + 9
3) (2y+5)? = 4y? + 20y + 25 4) (5b+2)? = 25b* +20b + 4

(5) Gz +3)(5x—2) = 2522 +5x —6 (6) (5r+3)62-3) = 25x% — 9

— 13th-note —



12.

13.

—~ B 0105-2 -

WROXZ R LRSI\,
(1) 22(3z — 2y) 622 — 4y (2) —2(42+5) —4z% — bz
(3) a(5a—3b) Ba? — 3ab (4) —3y(-5y—3) 15y% + 9y

(5) —4b(—20 —3¢) 8b* + 12bc

ROXZREE L2 V,
(1) (5b+3)(50—3) = 25b%b — 9 2) 5z —3)(5x+2) = 25x% — 5x — 6
3) 5z —2)(5x +2) = 25x% — 4 4) Br—2?2 = 9x? — 122 + 4

(5) 5z —1)(r—4) = 2522 — 252 +4 6) 2z +5)@2c—-1) = 4x®* +8x — 5
(7) 3z +2)(3z—5) = 9x% — 9z — 10 (8) 5y —2)> = 25y? — 20y + 4

9) Ba+4)Ba+2) = 9a® + 18a + 8 (10) 3a+1)(3a—2) = 9a? — 3a — 2
(11) Qe+ D)2z +5) = 42?2 + 12 + 5 (12) 5b+3)(5b—4) = 25b%> — 5bb — 12
(13) Ba+1)Ba+2) = 9a? +9a + 2 (14) 2 +5? = 4x? + 20x + 25

(15) By + 4By -5 = 9y? — 3y — 20 (16) Be+4)(3z+5) = 9x2 + 27x + 20
(17) By +4)? = 9y? + 24y + 16 (18) (2b+7)(2b+5) = 4b* + 24b + 35

(19) (5z - 3)(5x - Y20) (52 +2)(52 - 3) = 2522 — bz — 6
= 2522 — 35 + 12

— 13th-note —
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14, woszmmLrso,

WD) == e h) e =att Tt 2
® (1-1)(e+3) =a*+20-2 @ (2+2)(o+3) =22+ Lata
© @ri) =842+ 0 (1 4) (1) =or- 128

(7) (0+3)(b—4) =b* —b—12 ®) (y_%f :yz_er%
O3 =v=f D)) =e g
(11) 3b—1)(3b+1) = 9b* — 1 (12) (4:3_%) (4x+%> _ 16&.2_%
w (e 3) e ranr 2 (e ) (e ) =00+ D

(1) (sy+2) (3 2) = 25y2 — 22 (10 (s 4)(dy-2) =16y + 8y — 8

9
(a7 (sa-9)" =25a% — 12a + % (1) (204 2) (22; 5) )
= 4x? 4+ T
(19) (5a+1)(5a —1) = 25a? — 1 (20) <5x+ %> (5:1:— %>
— 2502 — %a} _ 1%

— 13th-note —



